

SUMAY RESTA DE NÚMEROS ENTEROS

$$(-90) - (-56) =$$

$$63 - (-34) =$$

$$(-36) + 49 =$$

$$50 + 41 =$$

$$87 - 25 =$$

$$58 - (-81) =$$

$$88 + 99 =$$

$$(-51) - 21 =$$

$$(-60) - 73 =$$

$$(-32) + (-34) =$$

$$(-55) - 58 =$$

$$4 - (-23) =$$

$$(-14) - (-16) =$$

$$(-17) - (-35) =$$

$$(-75) + 39 =$$

$$(-62) + (-93) =$$

$$7 + (-10) =$$

$$(-86) + (-66) =$$

$$(-3) - 22 =$$

$$19 + (-4) =$$

$$87 + 67 =$$

$$(-57) - (-63) =$$

$$66 + (-60) =$$

$$(-48) - 46 =$$

$$2 + (-89) =$$

$$8 + 27 =$$

$$68 + (-7) =$$

$$(-15) + (-37) =$$

$$(-58) + 81 =$$

$$(-28) - 88 =$$